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Ajusta en medio ácido, las siguientes reacciones redox: 

 

1. KI + KNO2 + ClH   → I2 + NO + ClK + H2O 

 

2. HNO3 + H2S   → NO + S + H2O 

 

3. CuS + HNO3    → Cu(NO3 )2 + S + NO+ H2O 

 

4. K2Cr2O7 + ClH  → ClK + CrCl3 + Cl2 + H2O 

 

5. Ca(ClO)2 + KI + ClH → I2 + CaCl2 + ClK + H2O 

 

6. Sn + HNO3   → SnO2 + NO2 + H2O 

 

7. Zn + As2O3 + H2SO4 → AsH3 + ZnSO4 + H2O 

 

8. ClK + MnO4K + H2SO4 →  KHSO4 + MnSO4 + Cl2 + H2O 

 

9. I2 + Na2S2O3   → Na2S4O6 + NaI 

 

10. K2Cr2O7 + FeSO4 + H2SO4  → Cr2(SO4 )3 + Fe2(SO4 )3 + K2SO4 + H2O 

 

11. FeCl2 + H2O2 + ClH  → FeCl3 + H2O 

 

12. K2Cr2O7 + SnCl2 + ClH  → CrCl3 + SnCl4 + ClK + H2O 

 

13. CuS + HNO3   → SO2 + Cu(NO3 )2 + NO + H2O 

 

14. Zn + HNO3     → Zn(NO3 )2 + NH4NO3 + H2O 

 

15. MnO + PbO2 + HNO3  → MnO4H + Pb(NO3 )2 + H2O 
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16. ClO3K + H2SO4   → KHSO4 + O2 + ClO2 + H2O 

 

17. As2S5 + HNO3  → H3AsO4 + H2SO4 + NO2 + H2O 

 

Ajustar las siguientes reacciones redox en medio básico: 

 

18. Cl2 + NaOH + NaIO3    → NaIO4 + NaCl + H2O 

 

19. MnO4K + KOH + NaI   → K2 MnO4 + NaIO3 + H2O 

 

20. NH3 + O2     → NO + H2O 

 

21. Cr2(SO4 )3 +ClO3K + KOH    → K2CrO4 + ClK + K2SO4 + H2O 

 

22. Cr(OH)3 + KOH + H2O2  → K2CrO4 + H2O 

 

23. CuO + NH3     → N2 + Cu + H2O 

 

24. CrI3 + KOH + Cl2   → K2CrO4 + KIO4 + ClK + H2O 

 

25. MnO4K + KOH   → K2MnO4 + O2 +H2O 

 

26. Cr2O3 + Na2CO3 + KNO3   → Na2CrO4 + CO2 + KNO2  

 

27. P + H2O+ NaOH    → PH3 + NaH2PO2  

 

28. Cl2 + Ba(OH)2     → BaCl2 + Ba(ClO)2 + H2O 

 

 

 
 


